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ot =1t 7,085,000 7,258,700 A 173,700
MREs (o) (B ES /46 E - =2) 7,085,000 7,258,700 A 173,700
HWEAHAH K= 7,085,000 7,258,700 A 173,700
WEHH X = 7,085,000 7,258,700 A 173,700
309 8E= 2,000,000 2,063,480 N 63,480
01 BIILELEIHINTE2 2,000,000 2,063,480 A 63,480
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2,000,000,000& * 14 2,000,000

404 2J1E 28 E23 5,085,000 5,195,220 A 110,220
01 SIILEHIAHAXN22H 5,085,000 5,195,220 A 110,220

03 E3 ANHIREY N
= 4,000,000,0008 * 14] 4,000,000
O B+ RHAY XA
,000,000,0008 * 14} 1,000,000
O 5t4+E NYBIY NH2HEI 85,000
o E25 2% 545 HHIZA
25,000,0002 * 14! 25,000
o ZAE 1S 54T HHIZA
20,000,0002 * 1A 20,000
o ZAES 22 SH4T HHIZA
20,000,00090 * 14! 20,000
o ZAE 4E ST HHIZA
10,000,008 * 14} 10,000
o LUANS HBEZ DAY
10,000,0008 * 14} 10,000




